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S—RMG is using metal glazed material coated uniformly on High prity
ceramic rod with nonflammable coating.

Provide high surge resistance high voltage added with stable Peermance for
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Electric discharge circuit for TV.VTR
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High Voltage circuit for Power supply
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OA equipments

various characteristics.
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ARV L— B short time overload
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Type Power Rating| MaX. Max. IMPULSE Withsta-| Res.Range | Res.Tolerance | Standard Res.
L D d H+3 Working Volt. | Overload Volt. nding Volt, Q) + (%)
S-RMG16 3.3+0.2 1.7£0.2 0.45 30 1/6W 300V 500V 1KV
S-RMG25 6.31+0.5 2.31+0.5 0.6 30 1/4W 500V 700V 1.25KV
1 (F)
S-RMG50 9.0£0.5 3.510.5 0.6 30 1/2wW 1000V 2000V 3KV 1M~100M 2 (G) E—24
5 (J)
S-RMG75 11£1 4.0£0.5 0.8 30 1w 2000V 3000V 5KV
S-RMG80 15%1 6t1 0.8 38 2w 3000V 5000V 7KV
*1 A2V AT ERFASAXA0 us DIZLE R
Test condition on impuluse withstanding voltage is under standard waveform of 1X40 us
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